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1. WM ERT p(x) TF 9598 B1 p(x) N (x-1) ¥

I @ W 2 INFA S9qT 21 plx) B (x —2)
A 9 J| W 1 IEA S=d Bl plo B
(x -1 (x-2) & 97T 3 R FT AT T9?

(@) 3
(b) -3
e 3—=x

(d 3-2x

2. frft waTons Safa® @@ x % ged #

Fr=fafaa w foem Hifsg .

I: x+l>1
X

1)2
II. (x+—) 2
X

1\4
III. (x+-—) >9
X

I § V PE- T 27
() FEA1FII
(b) HaA 119 III
(c) FaA1d1II

(d 1, 1391l

3. WA R p 9 g (g> p) THkH FEAT ¥

q? -5p-4 B FHE BN F U p W
Yol ST A 1 7

(@ 3

(b) 4

() S

d 6
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N A
25 b,
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4. wH AT x T y Tl e & uds de

20 8 FH @ UK 8 T x, y, x+y 3K
x—y?ﬂmm%l (x’ yx+ty, X“y)
% TR forae g= | 87

(@ TH
(k) A
(c) H
(d) w5 R T

5. R (x+)(x+p(x2+p?)=x*-1 %, @@

p 1 HE 187

(@ -1

(b) O

(c) 1

(@) Tt 78 forn s g

6.3k  R+YBPFHR-B)* =2 - ¥ W@

2++/3)* - 2-+/3)* Torueh sT=R B7
(@ O

(b) 0-5

(¢ 1

(d 1.5

(@ 31/216
(b)) 35/216
() 37/216
[d) 41/216



1. Let p(x) be a polynomial. When p(x) is

divided by (x-1), it leaves 2 as the
remainder. When p(x) is divided by
(x-2), it leaves 1 as the remainder.
What is the remainder when p(x) is
divided by (x - 1)(x-2)?

(@ 3
(b) -3
(€ 3-x

{d)*3-2x

2. Consider the following in respect of a

positive real number x :

L x+l>1
X
12
I1. (x+—) >2
X
14
I11. (x+—) >9
%

Which of the above are correct?

(a) I and II only

(b) 1I and III only
(c) I and III only
(d) 1,1l and III

3. Let p and g be natural numbers such

that g > p. What is the largest value of
p such that g% - 5p -4 is negative?

(@) 3
(b) 4
() S
(d) 6

ANFB-T-EMT/45A

4, Let x and y be natural numbers,
each less than 20, such that x, y,
x+y and x-y are prime numbers.
How many such combinations of
(x, ¥y, x+y, x-y) are possible?

(@) One
(b) Two
(c) Three
(d) None

5. If(x+1(x+ p)(x2 + p2)=x4 -1, then what
is the value of p?

[a): =k
®) o
¢ 1
(d) Cannot be determined

6. If 2++/3)* +(2-+3)* =2, then what is
2++/3)* -2-+/3)* equal to?
(@ O
() 0-5
() 1
(d 1-5

what is bi Ve equal to?
4 b

(@ 31/216
(b) 35/216
() 37/216
(d) 41/216
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8. x® & x2 +1 | WM | W A1 AFA s=AM? 11. (1725 +1925) % 18 ¥ WPl & W F1 AFa

e
g5t (@ 0
(b) 0 b 1
(¢ 1 (¢ 3
d 9
d x+1
3 3
12. x 3R y % HCF, H®I p= 2" Yy =3
x* =+
9. (x +2) F=feRea # @ formen omEe 7 #h xy+y
==X "Yo ¥ HCF ¥ wad #
T8 R
(a) x% -4x* -3x3 +8x2 -14x+12 > zﬂﬁmﬁw :

1. pd g% HCF, H® & 8l
(b) x° +4x% -3x3 +8x2 -14x+12

II. pd g% HCF, 2H & §&al 21

© x5-4x*+3x3+8x2-14x+12 I FoAl § A B-w/Q @ R/
(@ ¥4 1

(d) x5 -4x* -3x3 +8x2 +14x+12 (b) *ad 11
(c) 1d113Ft

(d adIRI&N
10. IR log;y 2 = 0-301 AT log;, 3 = 0-477 ¥,

60 r 3 I 7

Tl 60°0 % AR # i i wEn F= ¥ 13. IR x* = x2 + 1, 5@ x> 02, D 21t BuF
T 7

(@ 105
(@ 2+3

(b) 106
(b) 3++5

(c) 107 fc) 5-23

(d) 108 o

ANFB-T-EMT/45A 4



8. What is the remainder when x© is 11. What is the remainder when

s 2
divided by x“ +17? (1725 + 1925)

(@ -1 is divided by 18?
() © -
®) 1
1
(c) © 3
(d x+1 (d 9

12. The HCF of x and y is H. Consider
the following statements in respect

following? 3 3
. of the HCF of p= i i

9. (x+2) is a factor of which one of the

e and
x2 _xy+y2
(@ x°-4x*-3x3+8x2-14x+12 X3 yB
o T
x2+xy+y2

5 4 .3 %
(b) x° +4x 3x° +8x 14x+12 I. The HCF of p and q can be H.

II. The HCF of p and g can be 2H.

(¢ x5 -4x%+3x3+8x2-14x+12 _ .
Which of the statements given above

is/are correct?

(d x5 -4x*-3x3 +8x2+14x+12 (@) 1 only

(b) 1I only
(c) Both I and II
10. If 1 2=0-301 d= ] 3=0-477,
Bio Pl o T (d) Neither I nor II
then what is the number of digits in the '
expansion of 6% 72 ¥ . A 2
13. If x* = x“ +1, where x > 0, then what is

2x* equal to?

(@ 105

g (@ 2++3
(b)) 3+5

(c) 107 © 5-2J3

(d) 108 (d 3-45

ANFB-T-EMT/45A 5 [ P.T.O.



14. 7R ptq _ r+S; @+n =0, (s+p)¢0%, 17. WFﬁﬁ‘{x=n(n+1)(n+2)?,Tt"Tn@W
q+r s+p ke wen @) fFefafes wo d @
A Frefafea § @ -1 o w8 }7 -1/} G /87
I  x¥ed 48 ¥ fawifsa g 21

II. x2 g9 144 9 fawnfa an 21

(@ p+g+r+s=0

Lo A3 e o g 1 s R
(c) ?ITth+q+r+s=02'lTp=r (@ ¥ 1
(d) g F A A T (b) Faa 11

(c) 13 I13Ft

; (d FAWIJAMIAI
15. IR nTFhF T RIA 73 FAR, A n S

M ht e et ®, fRd T (12n+2)

A1 (8n + 1) WTTEE A9 HEATE €7 18. x* +x2y2 + y*, x3y+y? o
x%y? - x3y® FMLCM T R?
(@) 6
(@ x3y*(x°®-y°
(b) 5
b) x3y?(x® - y°)
(c) 4
Foit6 " b
@ 3 ) x°y(x°-y°)
(@) xy(x® - y°)
16. x3 +y3 +3xy-1aM (x+y)* - 1% HCF
w7727 19. A T XYz 3 i i ©F e B W
T XYZ a9 ZYX o1 3@ D 81 D 9 99
o] Y% i [ AT 3 W F AGEA e
0
(b) x+y+1 (@
(b) 1
) x+y-1 © 7
@d 1 (d 9

ANFB-T-EMT/45A 6



14. If Pig  TES, @+ #0, (s+p)#0 17. Let x =n(n+ 1)(n+2), where n is an even
e natural number. Which of the following

then which one of the following is statements is/are correct?

correct?
I. x is always divisible by 48.

(@ p+q+r+s=0 . x2 is always divisible by 144.

b) p=r Select the answer using the code given
below.

(c) Either p+q+r+s=0o0r p=r
(a) 1 only

(d) | None of the above (b) 11 only

(c) Both I and II

15. If n is natural number less than 7, then (d) Neither I nor II
what is the number of values of n for
which (12n+2) and (8n + 1) are relatively 18. What it the “LOM ‘of 1x¥ 4 x2y2 = y4,
i s x3y+ y4 and x4y2 —x3y3 ?
(@) 6 (@ x3y*x®-y°)
e (b) x>y2(x®-y°)
p (© x3y(x®-y°)
d) 3
“ @ xy(x® - y°)
16. What is the HCF of x3 +y® +3xy-1 19. Let XYZ be a 3-digit number. Let D be
and (x+y)* -1? the difference between XYZ and ZYX.
What is the remainder when D is divided
(@ x+y by 99?
(b) x+y+1 e
(b) 1
-1
(0 x+y © 7
(d 1 (d 9

ANFB-T-EMT/45A 7 [P



20. A R p 7 g A TFERE TEAE W TER 23. AR x=2+21/2423/2 3 @ x2 -4x-10

5 (p+q)P*9, 512 ¥ fawm B R forger st 87
(p+q) 1 T4 qH H1 27 £l
bt ) 1
)y 6 (c) 4
(¢ 8 (d) 6
d 12
Jp+x+p-x '
24. wﬁ‘/m_m—p%,?ﬁxmm
% (a+ b)? ! (@+b)c a7
" (c-alc+ta+b) ¢2+bc-a?-ab :
_(a+2b+¢) il =X
—_2(c‘—a) ,a#b, b#c, c#a p2+1
forereh sRTeR &7 2p
(b) )
(@ -1/2
2
(b) O © —2
pe+1
(9 1/2
2
@ 1 @ 2P
o bt 1 |
22. IR ag? =p2 B, @
g 25. 7R (2=B),2 _(21D), ,p-
ax(E)” qﬁ( 2 )x ( 2 )“b T g
(i’) Tl & & @ 87
a'b
b
s TR 27 WA
(@ 1 2
ot
(b) ab
.
© 2’ a+b
€ b
: 1 2
@ a® aF 3 5%

ANFB-T-EMT/45A 8



20. Let p and g be two natural numbers 23. If x=2+27242%/2 then what is
such that (p +q)?* 9 is divisible by 512. x2% -4x-10 equal to?
What is the least value of (p+q)?

(@ O
(@ 4 e
(b) 6 e
(c) 8 Sy 8
d 12
,/p+x+,/p—x :
24. =
21. What is If m-ﬁ__x p, then what is x
(@+b)? . (@+bc equal to?
(c-ac+a+b) c?+bc-a?-ab (@ p
2
p°+1
—(igz—fjﬂ,a;eb, b#c, c#a
- (o) —2
equal to? p2.,_1
(@ -1/2 5
€ £
o9 p-+1
(o) 1/2 2p2
d
(d 1 (d) 2241

22. If a® = b?, then what is

a

25. If (E;Z)ﬂ —(%2] +b =0, then what

a\?
“x(i) are the roots of this equation?
()
a b
a) 1, —
(@ 1, =—
equal to?
2b
1, —
@ 1 ® 1
(C) —2'a R
a+b
e b
1 2.
d -, ——
@ a” @ 5 3%p

ANFB-T-EMT/45A 9 [P.TO.



26.ﬂﬁx—l=2,x>0%;?ﬁx2——12-ﬁv‘€% 29. @& (25)10 # dehrer 37 w1 B7
X %

TR 37 i
(@) 6 (b) 2
(b) 442 (c) 5
(¢ 4 (d) 6
(d) 2v2

30. THhEEN N YR & 6 s@a 4, 6, 7T 9
¥ 9P A W 3 A% S 21 39 AR Fy

27. A  (@-b)2+(b-c)2 +(c-a)2 =6 = ;igemw4aiaﬁaﬁmmmm
a? +b? +c® =29 ¥, M (a+b+c) Fead ;
TR R (@ 1003
(@ %9 (b) 1005
(b) +8 (c) 1007
(c) *6 (d) 1011
(d +3

31. 3fe \[2+\/2+,/2+,/2+... =cosec §, @

i = sin 6 foFE SR 87
5-2 5+2
28. _¥5-2 _V5+2
qﬁ]g«/§+2wqﬁ—2%’?ﬁ @ 1
(£+ﬂ)ﬁm%m%?
a p i
(b) T 9
(@ 18
1
5 &
(b) 85 (©) 7
() 322
1
(@ 72J5 @ 3

ANFB-T-EMT/45A 10



. - —e2 x>0 then',at e % 29. What is the digit at hundreds place of the
X

* number (25)1° ?
equal to?
(@)1
(@) 6
(b) 2
(b) 42
(c S
(¢ 4
(d) 6
(d 242
30. A number N is such that when divided by
4, 6, 7 or 9, it leaves 3 as remainder.
27. f (@a-b)2+(b-c)2+(c-a)>=6 and What is the smallest 4-digit number
a2 + b2 +c? =29, then what is (@+b +¢) that satisfies this property?
equal to? (@ 1003
(a) §%9 (b) 1005
(b) +8 (c) 1007
(0 t6 (d) 1011
(d) 3
31. If \/27+\E+,[2+4/2+... =cosecO, then
& what is sin® equal to?
28. If p= Lk and q=\/—5_+2, then what
V5 +2 J5-2 (@ 1
is (—3 g g) equal to?
q p
a3
gy} ae,
(b) 5
(@) 18
(b) 8J5 A
(c) 5
(c) 322
@ =
(d) 72J5 2

ANFB-T-EMT/45A 11 P10



32. ¥R 8sinb-cosb=4, & 0<B6<n/2%, A 35. Il coto g7 B, A

cosec fFas s 87 S5 TN,
lcosecz(-) +sec2 @
(@) 1
orae s 7
(b) 3/2
(@ 1/2
e ®) 1/3
d 2 ¢ 2/3
d 3/4
33. IR 2tan6 =sec?0-2, SEf 0<6<n/2 3, _
o cotd Pk waRe 47 36. ol wmEm P ¥ @ =pEmi @ W
%i%qa%lwﬁwm@?{-ﬁﬁw%
(@ J2-1
(@) 60°
() V2+1
() 57-5°
() J3-1 (c) 52.5°
(d) J3+2 (d) 47-5°
37. If wfiw
34. (secO-tan®)- i;:ﬁg Toreres wrem 27 1og; [998+Jx2 -18x+76 ] =3
FA TP E, W (o -p)2 Frad s 27
(@ O
(@ 16
(b) 2tan®
(b) 25
(c) 2secH © 36
(d) sin® +cos6 (d) 49

ANFB-T-EMT/45A 12



32. If 8sin6-cos® =4, where 0<0<m/2

then what is cosec8 equal to?

(@) 1
(b) 3/2
(¢ 5/3

d 2

33. If 2tan® =sec? 6 -2, where 0<0<7/2,
then what is cotf equal to?

(@ 2-1
(b) V2+1
() J3-1

(d) J3+2

1-sinb

34. What is (secb-tan®)- -
1+sin6

equal

to?

@ 0

(b) 2tan®
(c) 2sec®

(d) sin®+cos6

ANFB-T-EMT/45A 13

35. If cot® = /7, then what is

cosec26 — sec? 0

cosec?26 + sec? 0

equal to?
(@ 1/2
(b) 1/3
(¢ 2/3

(@ 3/4

36. The difference between the two acute

angles in a right-angled triangle is

% radian. One of the acute angles of

the triangle is
(a) 60°

(b) 57-5°

(c) 52-5°

(d) 47-5°

37. If a and P are the roots of the equation

log;o [998+\/x2 -18x + 76 ] =3

then what is (@ -B)? equal to?
(@) 16

(b) 25
c) 36

(d 49

[ P.T.O.



38. AR x? +y* =14x2y2 2}, @ fofifed w
ﬁanﬁﬁm:

1. loglo(x2 + y2)
=log;o x +log;q y+ 2log;q 2

II. Iogm(x2 —y2)=log10 x +1og;0 y
+log;p 2+ 0-5log,, 3

S H @ B/ Y/
(@) 31

(b) FaS I

(c) 13113

(d FdIARIAI

39. fmfafea # @ Fw-a1/2
(3x+y)2 +(3x+y)(x+ 5y)—20(x+5y)2

1/ oS §/87
I (4x+13y)

. (x+19y)
A= o T 2 1 i W wd Iw gh)
(@) %= I

(b) @ 11

(c) 113N

(d) ﬂhlaﬂﬁ‘aﬁn

ANFB-T-EMT/45A
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40‘

X Y z

+ +

STY VoEs 20X fuiaown Y

Xty y+z z+x

o +3

X -

Yy Y-z z-x

(@ 1

(b) 1/2

(c)

1/3

(d 1/4

Fefafea 2 (02) weie ¥ fu

HH

5‘1”%'1 psin

2

a+gcos?o=m,

qsin2B+pCOSQB=n%; pmn d g#m n

a1. (

tan“f Prerh T 27

tanf

(@)

(b)

(c)

(@)

_(m-g)(n-q)
(m - p)(n- p)

_(m-g)(n-p)
(m - p)in-q)

(m-q)(n-gq)
(m- p)in-p)

(m-gq)(n- p)
(m-p)(n-q)



38. If x* +y4 = 14x2y2, then consider the 40. What is

following : B OV LB 4

xX=Y Y-2Z zZ-X
L loglo(x2+y2) x+y+y+z+z+x+3
X—yYs Y-z 2%

=log;q X +1log; o y+2log;p 2

2 in equal to?
II. log,q(x“ -y“)=log;p x +1log;o Y
+10g10 2+0- 510g10 3 (a) 1
b) L2
Which of the above is/are correct? L
() 1/3
(a) 1 only
(@ 1/4
(b) 11 only

(c) Both I and II

(d) Neither I nor II For the following two (02) items :

Let psin2 oz+qcos2 oa=m, qsin2 |3+pcos2 B=n;

p#mnand g#m,n
39. Which of the following is/are the factor(s)

of (3x+ y)? +(3x + y)(x+5y) -20(x + 5y)*?

2
I. @x+13y) 41. What is (tar:;) equal to?
II. (x+19y)

T e (m-q)n-aq)
Select the correct answer using the o
code given below.

(b) _(m-qg)(n-p)
(a) 1 only (m-p)(n-aq)
i o m-an-a
(m - p)n-p)
(c) Both I and Il
(d) Neither I nor I @ (m-g)(n-p)
(m-p)n-q)

ANFB-T-EMT/45A 15 [ P.T.O.



42. AR o T B TH FU ¥, A Frafafad § A FefaRea @ (02) weivt & fom

= ?
ﬁwm@mﬁ%. Fﬁﬁ‘ﬂ{sma 4«/— cosa. 2«/_%|
sinf o cosB 9
(@@ mn-1=0
(b) mn+1=0 45. tan? o foFos ater 87
(¢ m+n=0 (@) 8
(b) 6
(d m-n=0
(c 4
(d 3
Frafafaa < (02) et ¥ R -
46. tan? B forus R 27
W?ﬂ'ﬁchosece—sine=p'cTsec9—cos6=q%l (@ 1/42
43. (psin® +gcos6) s TR B7 (b) 3/2
(¢ 1/3
(@ -1
d 2/3
(b) O
(o a Frafafaa 2t (02) vt & fom .
@ 2 qﬁ?ﬁﬁl‘q 1+sm0 b+ {__p 12
47. sech fFae st 27
44. p2q?(p? + g2 + 3) Fored TR 27 (@ p
(@) 0 (b) p?+1
() 1 0 ——
pe+1
) 2
(@ =2
d 4 p?+1

ANFB-T-EMT/45A 16



42. If o and B are complementary angles, For the following two (02) items :

then which one of the following is

correct? sino. _ 442 coso. 243
Let —— = and = :
sinf 3 cosf 9
(@@ mn-1=0
() mn+1=0 45. What is tan? o equal to?
(@) 8
(¢ m+n=0
(b) 6
(d) m-n=0 (C) 4
(d 3

46. What is tan? B equal to?
For the following two (02) items :

(@ 1/\2
Let cosecB —sin® = p and sec6 —cosb =q. : B) 3/2
(e -1/[3
43. What is (psin® + gcos8) equal to? d 2/3
(@ -1
.2 For the following two (02) items :
(el 1 1+sin®
Let =p+yp? +1.
cosb6 e
(@ 2
47. What is sec6 equal to?
44. What is p2q?(p? + g2 + 3) equal to? (@ p
2
(@ 0 () \p?+1
1 (c)
® p2 1
(c)=-2
) -
d 4 p° +1

ANFB-T-EMT/45A 17
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48. tan6 fFu® sk 27
(@) p

) {p2+1

(o -t

p2+1

(d) ——L
p2+1

Ffafaa = (02) wiE ¥ fore

AH T sind +cos =p qAql sece‘lcosec6=q,
Wﬁp#l%l

49. pd q ¥ T Gy 77
(@ p=q(p?-)
(b) 2p=q(p® -1
() q=p2-1

(d) 29=p(p? -1

50. tan® +cot® fFaF awer &7

(a)

Q |

(b)

S

(c)

QY

(@)

AR

- ANFB-T-EMT/45A 18

51. @ @mfeal X @M Y AW 100 km/hr 9

60 km/hr i 7fd ¥ © & e § nfemm §)
WhE v # W o e H W x
9 ¥hs & R el 1 Yot X o F
77

(@) 80m
(b) 100m
(c) 120m

(d 150m

52. 3 Afh X a1 Y & & 901 W fef wwE Py

I Q % foT sww: @l 7:00 o qen gaig
7:10 5 T #1 X, 4-8 km/hr @91 v,
6 km/hr I 7fd | Sea1 81 H P A fray
i 6l gt W X, Y& fram?

(@) 3 km
(b) 3-5 km
(c) 4 km

(d 4-5km

53. X d¥1 v 3 IR 1 X 1 I wwS 12%

QR STl ®, T, 10% HSET Sl ¥ qe
Y 1 9 TE 10% WGl Sl 8, qeEq
12% 92/ ST ®1 4fe 991 ¥ Idum I
TAHE, M X T Y F GRS I H
1 a7

(@) S50 : 53
@) 6153
{cr 1211196
@ 121: 125



48. What is tan® equal to?

51. Two trains X and Y are travelling in

the same direction at 100 km/hr and

& P 60 km/hr respectively. Train X crosses
2 a man in train Y in 9 seconds. What is
J 1
o i the length of train X?
() 21 (@ 80m
e (b)) 100m
E vl (@ 150m

52. Two persons X and Y leave place P for
place Q at 7:00 am. and 7:10 a.m.
respectively along the same path.
X walks at a speed of 4-8km/hr

For the following two (02) items :

Let sinB+cos®=p and secB+cosecb=q,

where p # L and Y walks at a speed of 6 km/hr.
How many kilometres from place P will
49, What is the relation between p and g? s - s
@ p=ap®-Y Bt
(b) 3:5 km
b) 2p=gq(p? -1
(b) 2p=qlp” -1 (o} 4 ik
(© q=p*-1 (@ 4-5km

I -
(d) 2q=p(p~ -1 53. There are two employees X and Y. X’s

salary is first increased by 12% and
then decreased by 10%, and Y’s salary

50. What is tan® +cot6 al to?
e . is first increased by 10% and then

(a) £ decreased by 12%. If their salaries at
q present are equal, then what was the
ratio of initial salary of X to initial salary
m 2 of Y?
p
(@) S0 : 53
2p
(c) Y )-8l : 53
(c) 121 : 126
@ 22
p (d 121: 125
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54. Tl 7ia § p =afth &, Fd  x% 1@ 9 *ia 57. 3f gl
Hhd 8| T8 A Had y% ¢ 9 forg whd ¥

2x2—5px+2p2 =0
afeenal § P 2% g 9 forg wEd ¥ AR

X, y>z ', q T ¥ geut ) e 27 1 TF T, TR A ¥ 4 A R, @ p w1 AW
@ plx-z)/(y-z) g i

(b) ply-z)/(x-2z) (@) 8/3

() px/y (b) 4/3

(d) py/x © 2/3

(d 1/3
§5. X3 Y (Cu) @ S (Zn) 1 3 Frgurgd

§) feg X A, Cu 9 Zn F FAW: 5:4 F

gﬁ iul ';”Z'n: a;“ﬁ ?ﬁ;i;qumg 58. T10,000 I TRT 10% Thafe == H A

RA 370 % forg oft e @ ofi g i 3
firerRt 4w e s 21 AR fiuge x = IR i fhedt § e amw s R

aﬁ;‘fﬂmﬁ’ﬁﬁﬁmfm@i g”‘:g?z’ ;;m ¥ v e A o (@) R
LRI

L (@) T 4,437

bl (b) T4,237

Wi 7 (¢ T 4,021

(d 7:8 (@ T3811

56. 3 freneff X9 v foret whien & 923 §) X ¥ o
Y% 3 ¥ 20 A €)1 aR x ¥ o, x 9 59. f=fafa sremaatt o g w0 27

Y% SH F A F 75% €, A X7 v* il 5x+3<8x-9d 2x+20> 5x+2
1 ST 1 87
(@ 4<x<6
(@) 5% =1
) 4:1 (b) 3<x<5
(¢ 3:1 ) 2x<3Wix>5
(d 3:2

d x<4TAMx>6
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54. In a village consisting of p persons, x %

can read and write. Of the males, only
y% can read and write. Of the females,
only z% can read and write. If x, y> z,
then what is the number of males in the
village?

57. If one root of the equation

2x? —pr+2p2 =0

exceeds the other by 4, then what is the
value of p?

(@) plx-2)/(y-2)

(@ 8/3
(b) ply-2)/(x-2)
(b) 4/3
(0 px/y
2/3
@ py/x b
(d 1/3

55. X and Y are two alloys of copper (Cu) and
zinc (Zn). Alloy X is prepared by mixing
Cu and Zn in the ratio 5:4, and alloy Y
is prepared by mixing Cu and Zn in
the ratio 5:13 respectively. If equal
quantities of alloys X and Y are melted
to form a third alloy Z, then what is the
ratio of Cu to Zn in Z?

58. An amount of T 10,000 is borrowed at
10% per annum on compound interest
for 3 years, compounded annually,
and paid back in 3 equal annual
installments during these years. What
is the amount of each installment

(approximately)?
::: Zj (@) T 4,437
W 6: 7 (b) T 4,237
(d 7:8 (c T 4,021
(@ <T3,811

56. Two students X and Y appeared in a test.
The score of X is 20 more than that of Y.
If the score of X is 75% of the sum of the
scores of X and Y, then what is the ratio
of score of X to score of Y ?

59. What is the solution of the inequalities
5x+3<8x-9 and 2x +20> 5x+27?

@ 1 (@ 4<x<6
(b) &7 1 (b) <X <O

A @ 3:1 {c) x<8orx>5
(@ 3:2 (d x<4orx>6
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60. Th THMER fredl 98 W 10%, 20% d 25%

il FH FAA G A F I8 39 a%g B Y
T W 8% WY A S=al 31 AR I vEel g
% aQ J%g = el @ I fhan e Far?

(@ 20%
(b) 40%
© 50%

(d) IFH F F HE T

61. WA ©ifvg AD freht Bigs ABC =1 s R)

Ik (AB+AC)=p, (AB-AC)=q al
(BD-CD) = r &, @ BC forde ser 87

(@ gr/p
(b) pr/q
() pq/r

(d p+q-r

62. T @ FUER o Hit J=r qur I B

F AWM 21 cm B B, $9E A w2 3R
e % THYB H FIFA 616 cm? R, @ AeH
1 AR 1 27 (n =22 /7 <hfem)

(@ 1078 cm?®
(b) 1617 cm?3
(c) 1927 cm?3

(d) 2156 cm?®

ANFB-T-EMT/45A
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63. ABC W% s 8, fSmem @bl B R) AB#1

wefsrg P @M BC @1 weAfsg Q R
Frfefga w fomm ifve .

. AQ=J73%FE
II. CP=+52%%%

Bye & dowa & fufor % R sofw & A
FH-1/Y e g/87

(@) a1

(b) Fad 11

(c) 1IIIA

(d) 3R At T Y sravgewar @

64. TRt a1 Terd, <rer 9 J=ré AT gt

21 AR o9 H ™G 336 T HE B, @
A1 T Fol JE & 1T 87

(@) 288 T THTE

(b)) 292 T TFE

() 296 ¥ 3FTE

(d) He vl 7 8 F wro fuffa T
Toran 1 ohar @

65. 14 cm f= It feh 9@ % APB ®Ye1 =W 2

A1 P 3@ WM w HeAfrg B WM iR
Sfar AB %1 #egfag @ 91 PC=7cm R
Sfrar AP Y weTs @ 87

(@) 3:5cm
) 7em

(c) 10-5 cm
(d) 14 cm



60. A shopkeeper gives three consecutive 63. ABC is a triangle right angled at B. P is
discounts 10%, 20% and 25% after the midpoint of AB and Q is the mid-
which he sells the article at a profit of point of BC. Consider the following :

o L
8/o. on the cost price. Hat.i he sold the I AQ=+73 units
article after the first discount, how

much profit would he have got? II. CP=+52 units

(@ 20% Which of the above is/are required to
determine the area of the triangle?

(b) 40%
(a) 1 only

c): 50%

(© § () 11 only

(d) None of the above (c) Both I and II

(d) More information is needed
61. Let AD be the altitude of a triangle ABC. :

If (AB+AC)=p, (AB-AC)=q and

(BD - CD) = r, then what is BCequal to? 64. The length, breadth and height of a
cuboid are consecutive integers. If the
(@ ar/p volume of the cuboid is 336 cubic units,
then what is the total surface area of the
(b) pr/a cuboid?
e (a) 288 square units
(b) 292 square units
(d p+q-r

(c) 296 square units

(d) Cannot be determined due to

62. The sum of the height and the radius of a insufficient data
right circular cylinder is 21 cm, and the
radius is less than the height. If the
curved surface area of the cylinder is
616 cm2, then what is the volume of

65. In a circle of radius 14 cm, APB is a
shorter arc and P is the midpoint of the
arc. Let C be the midpoint of the chord

the cylinder? (Take n =22/7) ABand PC = 7 cm. What is the length of

3 the chord AP?
(a) 1078 cm

(a) 3:-5 cm
(b) 1617 cm?® B e
cm
3
(c) 1927 cm () 10-5cm
(d) 2156 cm?® ‘ (d) 14 cm
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66. 10m 9 15 m F9E & 3 @ FER 25 m H

PrfRagi st iR an ¥
ad # rem At Warel ¥ wfreded fag
Fams 7 7

(@ 4-8m
(b) Sm
{c). . 6'm
(d 6-4 m

67. ABC T& Ty &, fomem wweiwr B %) @

HfaRws, (AB+ BC) il &&§ AC @ 10 318
AtF ®1 IR e #1 fmm 60 =8 &, @
s o1 & o R7

(@) 75 = TS
(b) 100 T THE
(c) 125 a7 513

(d) 150 = 5HTE

68. A TN TWER 24 m F g W Ra & ik 37

S9EE A 10 m W FR B1 FTh wdfargadt
i gt T R7

(@) 25 m
(b) 26 m
(c) 30 m

(d) ¥ihs TAW 7 BN % wru Fulfa @
Toran <1 wepan 2

ANFB-T-EMT/45A

24

69. #H <fifsg fFeft B ABC it st BC, ca
9 AB ¥ wafag W X, Y 9 Z %)
Frfafaa sl ® faem Hifvw

L 9gs AZXY U "nicR-agys #)

II. @S AZXYy 1 &5%a fs ABC %
ST H 1T R

SR Ul § | PH-w1/A wd R/R?
(@ a1

(b) FaA 1

(c) 139 11M

(d FdI1dRIA I

70. = g T Aol W e A
L+ 40
8%
. 6

V. 82

I A ¥ o el wegye & e wur @
THa 87

(a) T
(b) R
¢ =

(d) wft Ir



66. Two poles of heights 10 m and 15 m are
25 m apart. What is the height of the
point of intersection of the lines joining
the tip of each pole to the foot of the
other pole?

(@) 4-8 m
() Sm
(c) 6m

(d 6-4m

67. ABC is a triangle right angled at B.
Further, (AB+ BC) exceeds AC by
10 units. If the perimeter of the triangle
is 60 units, then what is the area of the
triangle?
(a) 75 square units
(b) 100 square units

(c) 125 square units

(d) 150 square units

68. Two poles are situated 24 m apart and
their heights differ by 10 m. What is the
distance between their tips?

(@) 25 m
(b) 26 m

(c) 30m

(d) Cannot be determined due to
insufficient data

ANFB-T-EMT/45A
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69. Let X, Y and Z be the midpoints of the

sides BC, CA and AB of a triangle ABC
respectively. Consider the following
statements :

I. The quadrilateral AZXY is a
parallelogram.

II. The area of the quadrilateral AZXY
is half of the area of the triangle
ABC.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 1I only
() Both I and II

(d) Neither I nor II

70. Consider the following angles :

I a2
s io”
IH: 6%

V. 88

How many of the above can be the
exterior angle of a regular polygon?

(a) One
(b) Two
(c) Three

(d) All four

[ P.T.O.



71. Tt g ABC #, £A=30°, AB=7 cm 74. TF FIU 6 9 T HIV F1 db-dih TH-NArg

IR AC=12cm B BiYs ABC =1 &%t B IV 6 HT AH FT 7
Torerm &7
(@ 12°
(@ 21 cm?
(b) 15°
(b) 21J3 cm?
() 18°
2
(¢) 42 cm (@ 20°

(d) 42J3 cm?

75. frdt s ft € 11 cm, 60cm 3R

61 cm | #H el F geaAfgelt wi
72. ABC @& fays %, fS@eh @wsiv B }) AC W ﬁw:laﬁ?,gﬁﬂqg:mw%?
T fog D 39 YR ® % BD, AC % wwaq

2139 AB= pa BC=3p %, @ BD fras

(@ 165 cm?
TR 7
2
(@ p/3 (b) 110 cm
(b) p/2 (c) 82.5cm?
() 3p/2 (d) 72.5 cm?
(d) 3p/4
76. TH WleH 30° F B TN T Il & a0
73. TRl THeRE ¥ S T T B0 w W TR R 55 cm <K F1 5 S R ) e
120° ¥ | w5y 1 il < den 7 27 1 o = R? (n = 22 /7 i)
(@ 9 (@) 90 cm
(b) 10 (b) 100 cm
¢ 11 (c) 105 cm
d 12 (d 110 cm
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71. In a triangle ABC, ZA=30° AB=7 cm 74. An angle 6 is exactly one-fourth of its

and AC = 12 cm. What is the area of the complementary angle. What is the value
triangle ABC? of angle 6°?
(@ 21 cm? (@ 12°
(b) 21V3 cm? o 1F
(c): “18%
(¢) 42 cm?
(d)=202

(d) 42Y3 cm?

75. The sides of a triangle are 11 cm, 60 cm

72. ABC is a triangle right angled at B. and 61 cm. What is the area of the
D is a point on AC such that BD is triangle formed by joining the mid-
perpendicular to AC. If AB=p and points of the sides of the triangle?
BC = /3p, then what is BD equal to?

(@ 165 cm?
(@ p/3

(b) 110 cm?
(b) p/2

() 82-5cm?
(c) V3p/2

73. The difference between an interior angle 76. A pendulum swings through an angle of
and an exterior angle of a regular 30° and its end dCSCYibCS_ an arc of
polygon is 120°. What is the number of length 55 cm. What is the length of the
sides of the polygon? pendulum? (Take 7 =22/7)

(@ 9 (@) 90 cm

(b)) 10 (b) 100 cm
(c) 11 (c) 105 cm
(@ 12 (d) 110 cm
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77. T TESHR G H fiwm 60° #1 IR TwIE
&% 100 m? R, T < FI TRAGH F1 }?

(@ 2502 3

(b)

(c)

@ 10003 m3

78. T& @d JA UF IR TF Mals, & SER THH
B W 7 e oft wuE #) g it I W

e, <t Bren | o 31U #7

(@13

{b): 12

(c) 271

{d):3::.2

ANFB-T-EMT/45A
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79. TF AR T wHag Pige & w0 A R, R

%A 36/3 cm? ®| IR W wdfgm #A
sftafda foren smar &, @ Sweht Brsen = 7

(@) 2 cm
T

) 22 cm

m+2

(c) 45 cm
n

(d) I & QB T

80. #H wifvg foh 31 Been ol 9 & 3ifha geem

e 91 H gaha x 8| WA i 6 e
e Y e T @ # i gew w9
F ATFA y Bl x MR y F fi9 71 day 17

(a) nx=2y
(b) 2nx=y
(c) nx=4y

(d) mnx=8y



77. A conical tent has an angle of 60° at the

vertex. If the curved surface area is
100 m2, then what is the volume of
the tent?

25042
J3n

m3

(@)

50073
IR

m3

(b)

1000J3 &

(C) m

100043 s

(d) 5

78. A right circular cone and a hemisphere

have equal base and equal volume.
What is the ratio of the height of the
cone to the radius of the hemisphere?

(@)::d: 1

() 1:2

[e) =21

d 3:2
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79. A wire is in the form of an equilateral

triangle with an area of 36v3 cm?. If it
is changed into a semicircle, then

what is its radius?

(a) 2 cm
m

(b)

v+ 2
(c) is cm
n

(d) None of the above

80. Let the area of the largest possible square -

inscribed in a circle of unit radius be x.
Let the area of the largest possible circle
inscribed in a square of unit side length
be y. What is the relation between x
and y?

(@ nx=2y
(b) 2mx=y
(¢) mx=4y
(d) mx =8y

[ P.T.O.



81. TF WA o R, ek W @ HA 1 R 11
fu mu ) v 3R FeA W =R Al

TR .

IFA TN R, WE x -yt 41 W
x" +y" g fawfa e S ?, S®T n
T WThforeh T 87

Y- :

n fomm 21

Y411 :

n | R

I 9w Sl FeE % we § Frffaa # @
FH-H1 T FE 27

(@) 9 9 H1 SR H H A TRl & A
P IHE R T s owwa R, feg
TR FY T IR I H TG e S

a1 B

(b) 3@ T 1 W qAT FweE A ¥ R
oft orhal I9AM R fean < Hehan B

() 38 TE H IW A FAA B THAY
I R e o wear B, g dmi 6 @
freh ww U 1 TR ITER R AR
fean 1 P @

(d) 3@ T F IR F w A A R oA
I fore fom oft feam < wepan @
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82. U WA T mn R, e W€ & FeH 1 R 1
o ¥ ) WA 3R weEl W fEw fifvm)

TR .

T WIEHfah G@ N 3R & M 1 b
252 %, s’ M, N % 3l & fooda wu A
fergam fafifa R <1 81 g N w0 27

YA

N+ M =33

FUE-II :

N>M

S5 T 3l e % g i Frafufaa # @
H-T1 Th G 87

(@) 39 9 1 IR F FIA 4 4 6l
FFA I W e W wwar 7, g
TEY YA T IThe ITM F AL T S
ol B

(b) @ T 1 IW AT w4 FRER A
ff 27%hal I9ENT o fean S wear B

(c) 3@ TE H IW A FH H THAY
I o T < vk B, Reg AR A @
Trdl T HUT FT MHA YA FW T
fean s whan @

(d) T YH H IR F F H G Rl W
Iy forg famn oft fomm < wekan 2



81. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

What is the remainder when
x2" - y?" 4 1is divided by x" + y*,
where n is a natural number?

Statement-I :

n is odd.

Statement-II :

n is even.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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31

82. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

The product of a natural number N
and the number M written by
the same digits of N in the
reverse order is 252. What is the
number N?

Statement-I :

N+ M =33

Statement-II :

N>M

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.



83. TH WA e T R, Rrmek 9@ @ w1 3R 11
fRume £ e 3R FE W fEm iR

3

e (54D)10 & war # oifem o 1 R
3% D 1 A 1 87

$Yq-I :

D>5

FUA-I1 :
D, 3 F TF W &I

I T AR FeAl % waf & Froafafea & @
HH-91 Tk Td 77

(@) T@IE F W F FE A | vl @&
FHA IR W e w1 wwa j, feg
T YA FT AHA ITNT W A A1 W
ol &

(b) @ TE H IW aHI HU ¥ ¥ TR A
off Ia I W e < g ®

(c) 3@ TH H IW A FAA B THAY
I W R S wwa R, g A A W
et T U B FhA ST W AR
e < Hepan B

(d) 3@ TF H IR @ o F A el =
Iqar g fomn oft foan < wpan
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84. T% W f mn R, formes W@ & $UA 1 R 10
fu e ¥ v 3R FoEl W e fif)

U3

8§ ABCH A= /B- ZCRI F & A
o]

$hYF-1

ABC T 3tftrpeioft s =i 21

HYA-II :
HU C 7 B

It e IR FoAl & Hel § Frafefea 4 @
FH-T1 TH T 87

(@) 9 Y H1 W F FI 4 @ R T w:
IFQ I e w1 wwan &, fRg
A HUF HT IThS ITAM A T e S
ekl

(b) 39 Y H IW A HuA A @ feel
oft 3TFe) 3ugm o e <0 wehan @

(c) 3@ T H IW I FUA H HAA
I R T 1 wwar B, g A A @
o T FOH F TFA ST A
Tt <1 whan ®

(d) 3@ 9H H SW W w4 R oA
Iy fope fomm oft fomn < wepan ®



83. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

The last digit in the expansion of
the number (54D)'%° is 1. What is

the value of the digit D?

Statement-I :

D>5

Statement-II :

D is a multiple of 3.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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84. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

In a triangle ABC, ZA=/ZB- /C.
Is angle A acute?

Statement-I :

ABC is not an obtuse-angled
triangle.

Statement-II :

Angle C is acute.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.



85. TH W T T R, e W & w1 R I
fou mu ¥ w3 FeAl W R Fif)

w e ABC #, fwd B wWem R,
AC=20cm ¥ Bryys 6 uftren = @7

Y- :

AB="12cm

SYA-II :
BC=16'ecm

S T o ol ¥ wed Pt § @
HH-U1 TH HE 87

(@) T T IR F HUA A A R T H
P M R w1 wwar ®, R
TR B F IFHA IFAM H T e
ehal B

(b) T T b1 IW AT FA A A TR A
off e 3uAm R fean < Heha ©

(c) 3@ Y H IW I HYA B THA
Iy o fn < Hear &, g ARt A W
frft TH wU B AFA ITM H AR
femn < wehan B

(d) 3@ TE B IW T FE A A TR H
Iw Rre fomn oft e < wehan @
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86. TH Tw o mn R, foreh W FUA 1 R 1
o mu ¥) v 3wl W fem i)

TR

ABCD TH udid-ugdw ¥, fwd
ZABC = 60° ¥ | af¢ GHict-aqs 1 &%
7.3 = gl €, @ EHiR-aQ w1 9RE
w7

YA :

sl AB 3R DA i wargat s e
Bl

SYF-II :

et i wagEl s werd €, S
TR 1 THE A AfH B

mﬁﬁmaﬂtmﬁ%mﬁﬁﬁmﬁmﬁa
HH-H1 T FE 27

(@) T8 I H W FA A A Bl & H:
apa I7Em W femn S wea v, T
TR FUA 1 ITH ITAN W T e
LET

(b) T@ W H IW I HAA A @ R
oft oFal I A e < weha B

() 3@ A F IW IA B B THAA
IR R S EEa ?, g A Q@
freft ©F FUR w1 FFA ITR H A
o < wha B

(d) 3@ T F W F B A A Tl
3Iwm Ry e oft fen < wewan @



85. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

In a triangle ABC right angled at B,
AC=20cm. What is the circum-
radius of the triangle?

Statement-I :

AB=12 cm

Statement-II :

BC=16 cm

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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86. A Question is given followed by two

Statements I and II. Consider the

Question and the Statements.

Question :

ABCD is a parallelogram with
ZABC=060° If the area of the
parallelogram is 7+/3 square units,
then what is the perimeter of the
parallelogram?

Statement-I :

The lengths of the sides AB and DA
are prime numbers.

Statement-II :

The lengths of the sides are natural
numbers each greater than 1 unit.

Which one of the following is correct in
respect of the above Question and the
Statements?

(a) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.
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87. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements. :

Question :

AB and CD are chords of a circle
intersecting at P. If APxPB
=48 square units, then what is
CP x PD equal to?

Statement-I :

AP = 8 units

Statement-II :

CP = 10 units

Which one of the following is correct in
respect of the above Question and the‘
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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88. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

In a quadrilateral ABCD, AB
= 6 units, BC = 18 units, CD
=6 units, DA =9 units. What is
the length of diagonal BD?

Statement-I :

The length of BD is an integer
greater than 13.

Statement-II :

The length of BD is an even integer.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(¢) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[P.T.O.
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89. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

ABC is an isosceles triangle with
AB= AC =10 units. If the area of
the triangle is 48 square units,
then what is the length of the
base BC?

Statement-I :

The length of BCis an even integer.

Statement-II :

The height of the triangle is greater
than the length of half of the base.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

() The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements
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90. A Question is given followed by two

Statements I and II. Consider the
Question and the Statements.

Question :

The diagonals of a rhombus ABCD
are in the ratio 5:12. Is one of
the diagonals equal to side of the
rhombus?

Statement-I :

The sum of the diagonals = 34 cm.

Statement-II :

The length of a side = 13 cm.

Which one of the following is correct in
respect of the above Question and the
Statements?

(@) The Question can be answered by
using one of the Statements alone,
but cannot be answered using the
other Statement alone

(b) The Question can be answered by
using either Statement alone

(c) The Question can be answered by
using both the Statements
together, but cannot be answered
using either Statement alone

(d) The Question can be answered
even without using any of the
Statements

[ P.T.O.
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(a) GHIER HTEA

(b) TR H1EA
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20 ¥ Aftr+ 75
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(@ 20-5
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(c) 30-5

(d 32-5
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91. Which measure of central tendency is
least affected by the presence of extreme
observations in the data?

(a) Arithmetic mean

(b) Harmonic mean

(c)

Geometric mean

(d) Median

92. To find the average ratio like price/unit,
work done/hour, kilometre/hour under
certain conditions, the suitable measure
of central tendency applicable is

(a)
(b)
(c)
(@)

93. The

arithmetic mean
geometric mean
harmonic mean

mode

frequency distribution of marks

of 100 candidates in a particular
examination is as follows :

Marks Number of Candidates
More than 10 100
More than 20 75
More than 30 60
More than 40 40

What are the average marks of the
candidates?

(@)
(b)
(c)
(d)

20-5
22-5
30-5
32:5
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94, The arithmetic mean of 200 observations

is 60. If 5 is multiplied to each
observation, then what will be the new
arithmetic mean?

(@) 500
(b) 300
(c) 60

d) 40

95. A distribution consists of 3 components

with frequencies 45, 40 and 55 having
their means 2, 2-5 and 2 respectively.
What is the mean of the combined
distribution?

(@ 2-14

(b) 225

) 2-37

(d 2-50

96. Which one of the following is a positional

average?

(a) Arithmetic mean

(b) Median

(c) Mode

(d) Geometric mean

[ P.T.O.
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97. u % HH 1 }?
(@ 1
(b) 2
© 3

(@ 4
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(@ 5
(b) 6
© 7

d 8
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frfafaa < (02) weAt & foaw .
Frefafea sz, fee @ifemm @@ 24 8, W fEr
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iR BTl & GEar
10 9 %9 5
20 ¥ 9 30
30 ¥ &H 30+k
40 ¥ FH 48 +k
50 ¥ &9 55+k

99. k& HF F1 87

(@)

(b)

()

(@)

20

22

25

30

100. =27 & H1eg 41 87

(@)

(b)

(c)

(@)

21-625

22.225

23-225

24.625



For the following two (02) items : For the following two (02) items :

The following data represent the distance
covered (in metres) by two groups of athletic
children. It is known that the median distance

Consider the following distribution’ having
median value 24 :

in the first group is 20 - 8 metres while the mean Sk e
distance in the second group is 17-3 metres. Nors Sy of i
Some frequencies in both the groups are Less than 10 5
missing :
Less than 20 30
Distance Class| First Group | Second Group Less than 30 30+k
0-5 u 3u Less than 40 48 +k
5-10 v 2v : Less than 50 55+k
10-15 11 40
15-20 52 50
99. What is the value of k?
20-25 75 30
25-30 22 28 (@) 20
(b) 22
97. What is the value of u?
(@ 1 (c) 25
(b) 2 G (d 30
(c) 3
(a 4 .
100. What is the mean of the distribution?
98. What is the value of v? (@ 21-625
(@ S5
(b) 22-225
(b) 6
c) 23:225
© 7 (c)
(d 8 (d) 24-625
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